W Chemical Equations

Name Class Date
o Which formula correctly represents the e Given the equation:
product of an addition reaction between C(s) + H,0(g) — CO(g) + H,(g)
ethene and chlorine? : 2 *
W ‘es undergoes reduction?
A-CHGH ~4
B a1 A C(s)
c B 4+
D a9
D H-(g)
|
e Given the unbalanced equation: o Given the reaction:
Fe,O co Fi co heat
bl e 2 Al(s) + Fe,04(s) —> Al,Os(s) + 2 Fe(s)
(”‘“ﬂ th oo i ic e bhalan ol ~

e \.

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

RF Cip — Gollgul + 11eT

Which molecule is represented by X?

A _C.H.
B C.H;
¢ Ch

e Give Yced equatiot
H,0

[H
KNO,(s) + 34.89 ki —> K*(aq) + NO,~(aq)
Which statement best describes this process?
A ltis endothermic and entropy increases.
B lItis endothermic and entropy decreases.

C ltis exothermic and entropy increases.
D Itis exothermic and entropy decreases.

A H,0(g) — H,0()
B _C(s) +0,(9) — C,0(g)

C H+H 9gHe+(1-,n

'

p
D n . ~Ba+ . Kr+( . h

0

Given the =2 4action:

~ NHz+HCI— NH,CI

In this reaction, ammonia molecules (NH,)
act as a base because they

A accept hydrogen ions (H*)
B accept hydroxide ions (OH")
€ donate hydrogen ions (H*)
D donate hydroxide ions (OH-)
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